H & 0l & AHS B Ml A

0288 E 20& SSAAEGASSESIA JH

SN DiRpEER

A AGHX 22((&Y - SAILLMUX/MHES - DS
chel: SZCH 24 2 2H(STAPZAASHEN) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OleH& =t 2,299,550 3,841,638 1,542,088
= 100,000
= 2,199,550
AAET] 22| (MY - SAIIGRLUUX/ASEAE - DES 1,299,550 2,804,238 A 1,504,688
== 100,000
[Ea 1,199,550
SSHA 4 4 2L (SSANP2TEALSESA) 1,299,550 2,804,238 A 1,504,688
< 100,000
s 1,199,550
s3HA x4 2el 108,150 507,600 399,450
201 er23 | 8,150 7,600 550
01 At2teltl 8,150 7,600 550
Os3HX 22 222 & & 224|
5003 x1,500+32] 2,250
Os3HX (W2, H2dd S) IH
23 288t 1,500,000& 1,500
Os3HA S (#F, 22 8) =22
3,000,000& 3,000
Os3Hil AKA(HNELY, &= S) 01
S =8 1,400,000& 1,400
401 Al HIZ S 0HbI 100,000 500,000 400,000
01 AlZ2H| 100,000 500,000 A400,000
Ool2s3HX He22 JI=a S0l et
A& 22=H] 100,000,000 100,000
s3EX H=XMelAlE 29 2el 476,400 531,638 N55,238
201 el 133,000 122,200 10,800
01 At2t2ltl 51,000 47,400 3,600
Ol =ZIA =2 S(AHE, )
40,000,000& 40,000
OH=XelAE AFHZ=H =2 (32, )
500,000 42| 2,000
OH+=X2IAIE HH=SS FHI
3,000,000 3,000
OFIIeHE g & BHAAE =2 (31
) 6,000,000& 6,000
02 S3=gl 82,000 74,800 7,200
OH=XM2IAIE HMIIQSB(HE, HY)
2,800,000 <20 12& 67,200
Oll=HM2lAE SHRS(HE, ¥Y)
100,000 x204 =% 123 2,400
Ol==HMeIAE &5 5§ S22, ¥
&) 100,000& #2JH 2+ 123 2,400
OHlz=XelAIE JIH % MII&Hl |R2e(
o, 9e) 10,000,000& 10,000
207 AR 32,000 32,000
03 Al 328 32,000 32,000




R HE TP
FAM: MACHK] el (& - SAIGLUEX/AEES - DS
o9l =3O T4 L SY(SBXTELALSHI) (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OH+H2IAE BT (2, )
32,000,000& 32,000
401 AIZHIX R0 311,400 377,438 66,038
01 AlZH| 311,400 377,438 A66,038
OdlE2sEEA SSHXMClAE 22|
=] 131,700,000 131,700
OZL=MSI=3HX S3H+HM2IAL
22| HsH| 131,700,000 131,700
OM=TELX STHAHAAE R 24
SAH 28,000,000& 28,000
Ogg=LSets3HA SSH+X2AIE
A2 SAtHI 20,000,000& 20,000
OHH(SSXREEAMESESH) 15,000 15,000 0
801 GdiHI8l 15,000 15,000
01 8HolbIgl 15,000 15,000
Oollblbl 15,000,000 15,000
HAFMSS IR T LA (2EHH) (& &) 500,000 1,500,000 1,000,000
401 AIZHIZ S0 500,000 1,500,000 1,000,000
01 Al&H| 488,000 1,344,600 856,600
SSHA &d 488,000,000& 488,000
02 Zeltl 10,000 150,000 140,000
Os3HAl x4 Zeld 10,000,000& 10,000
03 Al 20HHI 2,000 5,400 23,400
Os3HA &4 AER0HYI
2,000,000& 2,000
SENE SHAABKIA (253X ZYAY) (M 200,000 250,000 £50,000
(@eA)
= 100,000
Ea 100,000
401 AlZHIZ S OHbI 200,000 250,000 50,000
=S 100,000
s 100,000
01 Al&HI 200,000 250,000 /50,000
CESSSHA(SE, &) W2 A
200,000,000 200,000
< 100,000
s 100,000
HWRES(0lhMeta)) (M - SAISLNHR/AHAE 1,000,000 1,037,400 A37,400
nEss)
WEHHXS(SSAREEAMLSLIIN) 1,000,000 1,037,400 A37,400
WA XIE 1,000,000 1,037,400 A37,400
701 JIErRIHNSHES 1,000,000 1,037,400 A37,400
01 JIEt=I AN ES 1,000,000 1,037,400 A37,400
OssHA 22 S LetalH d&=
1,000,000,000& 1,000,000




